Solutions to Chapter 5.2.notebook
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. "Three sustems of linear inequalities have
been graphed below. For each system,
describ& what you can infer fromthe graph
about the restrictions on +he domain
and range.

a) =X
"‘ﬁ‘: 'X"y
_ ou can infer from t+hr's

graph +hot For this system
o+t fnc%qli-\-t'es 2%AER, BE R,.
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Y ou can infer From +his
5 craph +hat for this system
£ inccb.n,o.li'l“fcs=> xXE ,SEI

-4 22_ 2
43
c) Aty =72
QHE‘ X
R Vou can infer From this
s 3o vaph +hat for Hhis sustem
24:::'3 of inequalities= X& ’BEI'
T e
Bt
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2. Gmfh each S s+cm of linecar mecqf.oh'ﬂes.
Jus your repr-:«se.n-\-tﬁ-non of The
Solu:{-t on \Se:\-

a) 10xy) | =x+2y2-4,%XER,YER |
{. B J ¥, Sati d’ L_;\\';‘__,_L}_)""K" @n*%'iﬂuDUS

La10) SN RER, UER
{ & HB hSol_d_L,ns }i_LgL_ﬁ % Continuous

0] E}cbua-h'ons of +he boundaries?

Ly =X +2y =M Ly Y=
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@ Two points on each boundary (’X-I'n‘i"&H't'n‘l'):

Ly =X+2y=-4 Ly u=x% (0.K)
For Xx=0, For y=0, %* ‘agonal Aine
O+2y=~4 —x+20)=-M whith passes
Q§= i I - X =M +nrough (-1,-1),
- & =j =] Co0,0),(T,1) etc.
==2 x= N
B—frﬁ-ﬂ 2 w-int=> 9L *Since (0,0)
? -l-h__oc line
@ Test Point (0,0)% Test Point (0,1)
LS. IR.S. L.S [R.S
“xX+2 -4 o 4
O +2L0) Yo
0+O
o . Since 1>0, (0,1)1s
Since 024, (0,0) located in t+he
s located in Solution rtsx'on

-i-‘q_e Solution
rcsiOh .
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b) 1tx,y) | 2x +3y <9, xe%}jaf} X Discrcke
L;;nhsjhpc ) ))" 4 Pple )

(Xyy) ] y-6x 2|, XETL,yeT . Discr

{ 7Y |Sorfd e L.)U _ } ,*(g-\-\?%pﬁ“g}

0O E,qu-'r{ons of +he boundaries o
L>c3'x+3:j=q Ly y-bx=1
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@ TWo points on each boundary (x-int& B—irﬁ*);

L, Ox+3y=9 Ly u-6x=41
For X=10, ¥For uy=0, Fo¥ x=0, Fory=0,
QO)+34u=9 Ix+3)=9 Y-6(0)=1 o-6x=1

_Ozi — _?_(.z._j:_‘
%"ﬁ. ¥ %:1 -& -G
3 x=4.5 B"F +=>1 x=-0.17

=3 X-Iint=>4.35 X-int=>-0.1
Y-int =>3
& Tes+ Point (0,0) 8 Test Point (0,0) 8

A.S B L.S R.S.
IX +3 9 =
DO)+3 - 6 (0)

O+0 0-0

o O

Since 0<9,(0,0) O <1, therefore
i1s located I'n (0,0) 1's not located
+he Solution in he Scstution

're:aion. T‘cgion.
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